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Mo-moemy, Maiikn net He BoceMb cTaplue [xaHeTt
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Comparative Adjectives in attributive position
Larger and Smaller — Two exceptions (sort of)

Ovanorun

MpammaTuka

MNo-moéemy, Mankn net Ha BOceMb cTaplue [pkaHeT
I think Michael is around eight years older than Janet

Hrops |1 | Kak TeI tymaempb, kTo Oordue, Matikn J[»ékcoH wmm Who do you think is wealthier, Michael Jackson
2 | JIxanet J>xékcoH? or Janet Jackson?
Ceéra (3 |Maiikn, konéuno! OH )uBET B 00Jiee TOporoM nome, | Michael, of course! He lives in a more
4 |uem oHa. U y Herd manmina no00Jbie. OH B 1écATD | expensive house than she does. And his car is
5 | pa3 Goraue eé! bigger. He’s ten times wealthier than she is.
Hropws |6 |Kro crapiue, ko Mondxke? Who's older? Who's younger?
Cgéra |7 |llo-mOemy, Maiiki ieT Ha BOceMb ctapuie JLkaHeT. |7 think Michael is around eight years older than
Janet is.
Hrops |8 |A KTO BBIIE, KTO HUKE? And who'’s taller? Who's shorter?
Cgréra |9 |Ecmu s He ommbAarock, OH BEINIE €€ Ha TATh If I'm not mistaken, Michael is five centimeters
10 | canTuMéTpoB. Ho OH HIDKE cBOETO crapiero Oparta | taller than she is. But he’s two centimeters
11 | TaTo Ha 1Ba cCaHTHUMETpA. shorter than his older brother Tito.
Hropsb |12 | A xTo0 game moercs? Who bathes more often?
Cgéra |13 | Maiikn MOeTcst pa3 msTh B JIeHb, a J[»kaHeT TOIBKO Michael bathes about five times a day, while
14 | pa3 B IECHb. Janet only (bathes) once a day.
Hrope |15 | A kTO TO/MIME, KTO TOHbIIE? Ha CKOIBKO Who fatter? Who's thinner? How many
16 | KuJaOrpamMm oH TsKesée? M, MOXeT OBITh, OH kilograms heavier is he? Or perhaps he’s
17 | mérue eé? lighter than she is?
Ceéra |18 | OTKyza s 3HaK0, CKOJIILKO OHU BECAT? How should I know how much they weigh?
HUrops |19 | A ThI CKOJIBKO BECHUIIIB? How much do you weigh?
CBéra |20 | 9T0 Tebsi He KacdeTcsa. JKEHIUH 00 3TOM He That’s none of your business. Women are not
21 | CTIpAIIMBAIOT. asked about such things.
CnoBapb

4 | mo0OIBIIIE

IIOMEHBIIIE

larger (See grammar)

smaller

5 | B # pa3(a) + Comparative

# times smarter, richer, etc. (See grammar)

7 |Ha# + Comparative

by # taller, shorter, older, etc. (See grammar)

8 | HU3KUI; HIKE

low, shorter (You can say OHa BbicOKasi She’s tall, but OH4 HI3Kasg means
She’s a low(-life) person. However, the comparative form Hitzke means shorter.)

10 | CAaHTUMETD

centimeter (1 inch = 2.54 centimeters)

15 | TOICTBIN

fat; thick

15 | TOHKMI

thin
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16 | KHJIOTPAMM kilogram (2.2 pounds = 1 kilogram). Note that: 1) there are two M in this word in
Russian; 2) the Genitive Plural is kmorpamm — the same as the Nominative. It’s
similar to pa3 and uenoBék. The Genitive Singular is regular: kmsiorpamma.

16 | TSKETBIN heavy
18 | Bécu+ weigh
20 |3To He Kacaercs + [Genitive] that’s none of [person’s] business; that does not concern [person]

|74.A Two More Irregular Comparative Adjectives |

Here are two more slightly irregular comparative adjectives:

mutation Regular Adjective Comparative Degree
with mutated consonant and
unstressed -e

cT>1y TOJCTBIN fat; thick TONILE
K> TOHKHH thin TOHBIIE (note the b!)
(unexpected)
Pomanst Tosctoro TomIIIe, 4eM pOMAHBI Tolstoy’s novels are thicker than Dostoevksy'’s.
JlocToéBCKOrO.
Ero6 TpéThs jxeHa TOHBIIE, YeM eT0 JBe OBIBIIMX His third wife is thinner than his two ex-wives.
JKCHBI.
| 74.b More Comparative Constructions |
7461 Bare Genitive replaces yem + Nominative

Yesterday we saw that uem is used to express than, after which most often follows the noun in the Nominative
Case:

Omna crapie, ueM Opar. She’s older than (her) brother.

Maia 6orade, yem s. Masha is richer than me.
You can also use the Genitive Case without uem following the comparative form:

Ona crépuie Opara. She’s older than (her) brother is.

Maira 6orade MeHs. Masha is richer than me.
You cannot use the bare Genitive when a phrase follows the comparative:
B Ilpriacrone BcE nopdxe, ueM B TpéHTOHE Everything is more expensive in Princeton than in
Trenton.
*B [prracToHe Beé nopdxe Tpéurona (*Impossible)

I ———
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pammaTuka

gb Make the comparison. Use the Genitive whenever possible.

1. S/ TOnCTHIA / ThI 2.
3. Kro / 6orarsrii / oH? 4.
5. Tor/ nooOpast / TBOS cecTpa. 6.
7. Hukro6 / yMHBIH / 1. 8.
9. Bce/ 0énnrle / bramn. 10
11. Ona 6¢éraer / 6ICTpO /OH. 12
13. Méma / urpaer B maxmarsl / mioxo / Bépa. 14

74.6.2

Tamapa / Toukas / I'éna.
B Mockgé / x6momHo / B [Taprxe.
B Poxku / anicto / B @OpoOce.

Crémna / nenuBslii / Bee. (think!)

. B cy600T1y / 6yner Terno / cerOmHs.
. Miimra TOBOPHUT / TUXO / MBITIIb.

. Crynénrsl B [IprHCTOHE / TOBOPAT MO-PYCCKH /

xopouo / ctyaéHTsl B ['apBape.

How many times / By how much one thing is better, faster, taller, etc.

Yesterday we saw the use of ropasmo (ymuée, riaynée, etc.) uem much (smarter, stupider, etc) than. Today we’ll

look at two more comparative constructions:

1) To say that someone/something is # times smarter (vicher, etc.) use:

B + # + pas(a) +Comparative + yem (or Genitive)

The number goes into the Accusative, as you can see with B TeIcsiay pa3.

S B pécarp pa3 ymuaée teds (4eM Thl).

Er6 dortoammapar B Tpu paza nopdxe moerod (dem

MOif)
Ona B ABa pa3a crapiie Myxa (4eM MyxK).
Hpa B THICSIYY pa3 g00pée Onu (aem OJIH)

B IIpriHCcTOHE BCE B €TO Pa3 HOpOXKE, UEM B
Tpéurone.

I’'m ten times smarter than you.

His camera is three times as expensive as mine
(my camera).

She’s twice as old as her husband.
Ira is 1000 times nicer than Olya.

In Princeton, everything is 100 times more
expensive than in Trenton.

2) To indicate by how much something is taller,( more expensive, etc.), use:

Ha + Amount + Comparative + yem (or Genitive)

Kvipa na tpu réaa crapmie JKaHHBL

K)pa HA OATH MécAeB MOJIOKE MEHS.

41 Ha Tpu canTuMéTpa BEIIIIE €.

Sma na DécATH CAHTUMETPOB HIKE KECHBI.

DTOT caMOBAp Ha €TO Py0aéii TopOKE TBOETO.

Cerosst Ha cOPOK TPATYCOB XOJNOAHEE, UEM BUEPA.

Kira is three years older than Zhanna.

Yura is five months younger than me.

I’m three centimeters taller than her.

Yasha is ten centimeters shorter than his wife.

This samovar is 100 rubles more expensive than
yours.

1t’s 40° colder today than yesterday.
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To say that you weigh more or less than someone, use Tsizkesée or jgéure:

OH Tsmxenée CBOEH KEHBI Ha IECATh KIIOTPAMM. He'’s ten kilograms heavier than his wife.

A nérue moerd 6para Ha TpU KHJIOTpAMMA. I'm three kilograms lighter than my brother.

gb Translate

1. A Mercedes (Mepcenéc) is twice as expensive asa 2. A Volkswagen is $20,000 cheaper than a

Volkswagen (PoabkcBareH). Mercedes.
3. My elephant is ten times heavier than your tiger. 4. My tiger is 500 kilograms lighter than your
elephant.
5. He’s ten times smarter than his professor. 6. Today it’s ten degrees warmer than yesterday.
7. In my room (Y MeHs B KOMHaTe) it’s ten times 8. His last film is an hour longer (remember this
cleaner than in the dining hall. adjective?) than “Shakespeare in Love”
(Bmro6nénnsrii Llekcmrip)
9. A PCis twice as cheap as a Macintosh. 10. My grandfather is 35 years older than his wife.
11. He’s talking twice as loud as the radio. 12. “War and Peace” is 1000 pages longer than “The

Brothers Karamazov”. (bparsst Kapamazossbr)

74.B Comparative Adjectives in Attributive Position (Before Noun)

I want a more expensive car. She wants to marry a smarter man.

Recall from yesterday that comparative forms like crapiue, ymuée, Bolue, etc., can only appear in predicate
position (after some version of the verb be) in Nominative Case. To use a comparative in attributive position
(preceding the noun) you must use either 601ee more or ménee less (both unchanging) plus the regular adjective
in the correct CNG. This is different from English, where there is no difference in form between a (positive')
predicate comparative adjective vs. attributive adjective: My room is cleaner / [ want a cleaner room. These
forms are not interchangeable in Russian:

B Poccrin [Tymkus 60J1ee momy JIsipHbINA MTHCATEH, In Russia, Pushkin is a more popular writer than
geM JlocTOéBCKUTA. Dostoevsky.

S xouy MEéHee TOPOryI0 MaITIHY. I want a less expensive car.

Me&r1 xoTHM 60J1ee YncTOro mpodéccopa. We want a cleaner professor.

Omna nucana o MéHee TAJAHTIMBOM IIEBUIIC. She wrote about a less talented singer.

S xouy MEéHee TOPOryI0 MaIiHY. I want a less expensive car.

Me&r1 xoTHM 60J1ee YncTOro mpodéccopa. We want a cleaner professor.

Omna nucana o MéHee TAJAHTIMBOM IIEBUIIC. She wrote about a less talented singer.

Mow poadTenn XOTAT, 9TOOHI 51 )KCHIJICS Ha 00J1ee My parents want me to marry a richer woman.
ooraroii néByIKe.

S HUKOT A HE BCTpedan 001ee TIAYIBIX JTF0nEH! I've never met stupider people!

On x04eT 00mAThCS ¢ MEHee TPYOBIMH JTIOTEMU. He wants to associate with less rude people.

1

Note that the -er form in En%lish imﬁlies ‘more’. To saz ‘less’ zou must overtlz use that form: [/ want a less exeensive car.
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1. Princeton is a more prestigious university than 2. Tlused to live in a cleaner room.
Rider.
3. Ilike to think about more serious problems. 4. Tused to associate with ruder people.
5. Masha wants to find a smarter dog. 6. Ihave never seen a dirtier dining hall. (Use the
Genitive of Negation.)
7. 1 envy more talented musicians. 8. My parents want me to marry a richer man.
Galya used to go out with smarter guys. 10. Chicago is a more dangerous city than Detroit.

74.1 Large and Smaller- Two Exceptions (Sort of)

We saw in the last lesson (and previously) that the comparative (and superlative) adjectives Jiyummii better, best
and xyammii worse; worst can be used in attributive position. (In direct contradiction to the point discussed just
above.) The forms for larger and smaller also violate the above point — i.e., there are no possible forms *66.1ee
00b1I0 or *MéHee MATeHbKHIA, etc. (* indicates ungrammatical forms). Instead use the forms mo6ébure /
noménbIne after the noun in question:

S )xuBY B 1OMeE IOOOITBITIE, YeM ero. 1 live in a bigger house than his (house).

OnH4 xynTa MamuHy MMOMEHBITIE, 9eM MOSI. She bought a smaller car than mine.

In fact, you can use this same form, mo-Comparative, with many adjectives:

S xouy caMoBap MOJCIIEBIIE. I want a cheaper (less expensive) samovar.
MHe HpABSATCS TAPHH MOTOIIIIE. 1 like guys who are little plumper.
Ky mue nonotéHiie nmogopoxe. Buy me a more expensive towel.

gb Translate into Russian:

1. 1 want a larger skirt. (foOxa) 2. Weused to live in a smaller apartment.
3. I want a better car. 4. We were talking about the worst films of this year.
5. 1 want a cheaper aquarium. 6. Where is there a cleaner room here?
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74-n ypok domaluHee 3agaHue

,gj YnpaxHéHue 1  Write four sentences comparing things/people. Use both of the new
constructions (B # pas/a; Ha # ...).

,gj YnpaxHéHue 2 Write 4 sentences with attributive comparative adjectives. Use a different
Case in each sentence. Use one single-word comparative attributive form.
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74-n ypok — [lomawiHee 3agaHue Nma

2<  YnpaxHénue 3  [epeseaynte Ha PYCCKMIA:

1. I'm three centimeters taller than my father.

2. 1 want a kinder elephant.

3. Dima is two hours older than his brother.

74-8




